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Exercise 11.1 LetX = {A, B,C, D, r} and let O be defined as O; = (0, T, 0), with

T={CLCDNE,
DC 3r.(ANB),
ECVs.L }.

(a) Devise an ontology O s.t. O1 # Os, such that O, is a 3-conservative extension of O;.

(b) Give reasons why Qs is a 3-conservative extension.

Exercise 11.2 Let Y = {A, B,C,r}andlet O; = (0, 7;,0) for 1 <14 < 3, with

Ti={ ECFnND, Tz ={ (vr.A)11(3r.B) C Ir.(AN B), T73={ BCBUE,
D C 3s.F, ACYrT, C C3ds.D,
TCVRT } D C DyN3r.Ay, D C 3s.F,
BC (BuU-B), FC3r(AinAy)}

FC 38.(141 M Ag) }

Which of the three O; are Y -safe? Give reasons.



